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instructionS To candidates

	 1.	 Immediately after getting the booklet read instructions carefully, 
mentioned on the front and back page of the question booklet and 
do not open the seal given on the right hand side, unless asked by 
the invigilator.

	 2.	 Write your Roll No., Answer-Sheet No., in the specified places 
given above and put your signature.

	 3.	 Make all entries in the OMR Answer-Sheet as per the given 
instructions otherwise Answer-Sheet will not be evaluated.

	 4.	 After Opening the seal, ensure that the Question Booklet 
contains total no. of pages as mentioned above and printing 
of all the 100 questions is proper. If any discrepancy is found, 
inform the invigilator within 15 minutes and get the correct 
booklet.

	 5.	 For each question in the Question Booklet choose only one most 
appropriate answer, out of four options given and darken the circle 
provided against that option in the OMR Answer-Sheet, bearing the 
same serial number of the question. Darken the circle with Black or 
Blue ball point pen only.

	 6.	 Darken the circle of chosen option fully, otherwise answers will not 
be evaluated.

	 7.	 There are 100 objective type questions in this Question Booklet.  
2 mark is allotted for each correct answer and � of allotted 
marks will be deducted for each wrong answer.

	 8.	 Do not write anything anywhere in the Question Booklet and 
the Answer-Sheet except making entries in the specified places 
otherwise OMR Sheet will not be evaluated.

	 9.	 After completion of the examination, only OMR Answer Sheet 
and cover page of question booklet is to be handed over to the 
invigilator. Carbon copy of the Answer Sheet and Question Booklet 
may be taken away by the examinee.

	10.	 This Question Paper consists of Five Parts namely :
							      Q. No. 	 Marks
		  part - 1	 Schemes and Programmes related to	 1 to 20	 40
					    Women and Child Development
		  part - 2	 General Mental Aptitude and	 21  to 60	 80
					    General Knowledge	
		  part - 3	 General Knowledge of General Hindi
					    and Chhattisgarhi Language	 61 to 75	 30
		  part - 4	 General English		  76 to 85	 20
		  part - 5	 General Maths	 	 86 to 100	 30
		  All questions are compulsory.
	11.	 In case of any ambiguity in English version, the Hindi version shall 

be considered authentic.
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	 1.	 For the purpose of providing speedy 
trial of offences against Children’s 
Right, the State Government may 
specify at least a court in the State 
or specify for each district, a court of 
session to be a Children’s Court to try 
the said offences

	 (A)	 with the concurrence of Chief 
Justice of the High Court

	 (B)	 with the concurrence of Justice of 
Supreme Court

	 (C)	 with the concurrence of State 
Government

	 (D)	 with the concurrence of Central 
Government

	 2.	 If any person after the commencement 
of Dowry Prohibition Act, 1961 gives 
or takes dowry. He shall be punishable 
with imprisonment for a term which 
shall not be less than 

	 (A)	 10 years	 (B)	 5 years
	 (C)	 3 years	 (D)	 2 years

	 3.	 Which of the following is correct about 
declaration of Government of India 
for supplementary nutritional diet, 
regarding financial norms, nutritional 
value, energy for children between  
06 months and 06 years who are 
seriously malnutritioned ?

	 (A)	 Financial Provision : ` 12
		  Protein : 20 – 25 Gram
		  Calorie : 800 Calorie
	 (B)	 Financial Provision : ` 08
		  Protein : 12 – 15 Gram
		  Calorie : 500 Calorie
	 (C)	 Financial Provision : ` 9.50
		  Protein : 15 – 20 Gram
		  Calorie : 600 Calorie
	 (D)	 None of the above

	 1.	 amÁ` gaH$ma ~mbH$ A{YH$mam| Ho$ AnamYmo§ H$m 
Ëd[aV {dMmaU H$aZo Ho$ à`moOZ Ho$ {bE amÁ` _| 
H$_ go H$_ EH$ Ý`m`mb` H$mo `m àË`oH$ {Obo _| 
{H$gr goeZ Ý`m`mb` H$mo ~mbH$ Ý`m`mb` Ho$ ê$n 
_| {Z{X©îQ> H$a gHo$Jr

	 (A)	 CÀM Ý`m`mb` Ho$ _w»` Ý`m`_y{V© H$s 
gh_{V go

	 (B)	 gdm}ÀM Ý`m`mb` Ho$ Ý`m`mYre H$s gh_{V go

	 (C)	 amÁ` gaH$ma H$s gh_{V go

	 (D)	 Ho$ÝÐ gaH$ma H$s gh_{V go

	 2.	 `{X H$moB© ì`pŠV XhoO à{VfoY A{Y{Z`_, 1961 
Ho$ àma§^ Ho$ níMmV² XhoO XoJm `m boJm, Vmo dh 
H$mamdmg go XÊS>Zr` hmoJm, {OgH$s Ad{Y 
______ df© go H$_ H$s Zht hmoJr &

	 (A)	 Xg df©	 (B)	 nm°§M df©
	 (C)	 VrZ df©	 (D)	 Xmo df©
	 3.	 {ZåZ{b{IV _| go H$m¡Z-gm ̂ maV gaH$ma Ûmam nyaH$ 

nmofU Amhma Ho$ {bE {ZYm©[aV {dÎmr` _mnXÊS>, 
nmofH$VÎd Ed§ D$Om© 06 _mh go 06 df© VH$ Ho$ 
J§^ra Hw$nmo{fV ~ÀMm| Ho$ {bE ghr h¡ ?

	 (A)	 {dÎmr` àmdYmZ : ` 12
		  àmoQ>rZ : 20 - 25 J«m_ 
		  H¡$bmoar : 800 H¡$bmoar
	 (B)	 {dÎmr` àmdYmZ : ` 8
		  àmoQ>rZ : 12 - 15 J«m_
		  H¡$bmoar : 500 H¡$bmoar
	 (C)	 {dÎmr` àmdYmZ: ` 9.50
		  àmoQ>rZ : 15 - 20 J«m_
		  H¡$bmoar : 600 H¡$bmoar
	 (D)	 CnamoŠV _| go H$moB© Zht

Part – 1
 Schemes and Programmes related 
to Women and Child Development

 _{hbm Ed§ ~mb {dH$mg {d^mJ go gå~§{YV `moOZmE± 
Ed§ H$m`©H«$_
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	 4.	 Which are not the constituents of ready 
to eat food ? 

	 (A)	 Wheat, Soyabean, Gram and 
Sugar

	 (B)	 Soyabean, Gram, Sugar and 
Soyabean Oil

	 (C)	 Soyabean Oil, Wheat, Soyabean 
and Gram

	 (D)	 All of the above

	 5.	 Which of the following are the objectives 
of “Mukhyamantri Kanyadan Vivah 
Yojna” ?

	 i.	 To remove economic difficulties 
in the marriage of girls.

	 ii.	 To prevent from extravagant in 
marriages.

	 iii.	 To enhance will power and self 
respect by group marriages.

	 iv.	 To give financial assistance to the 
newly wed couple for the future life. 

		  Choose the correct code from the 
following.

	 (A)	 i, ii and iii
	 (B)	 Only i and ii
	 (C)	 Only i and iii
	 (D)	 All i, ii, iii and iv

	 6.	 Which of the following pair of diseases 
is bacteria generated ?

	 (A)	 Diphtheria and Tetanus
	 (B)	 Tetanus and Polio
	 (C)	 Polio and Diphtheria
	 (D)	 None of the above

	 4.	 aoS>r Qy> B©Q> \w$S> _| H$m¡Z-go KQ>H$ Zht hmoVo h¡§ ?

	 (A)	 Johÿ±, gmo`m~rZ, MZm VWm eŠH$a

	 (B)	 gmo`m~rZ, MZm, eŠH$a VWm gmo`m~rZ H$m 

Vob

	 (C)	 gmo`m~rZ H$m Vob, Johÿ±, gmo`m~rZ VWm MZm

	 (D)	 CnamoŠV _| go g^r

	 5.	 {ZåZ{b{IV _| go H$m¡Z-go ""_w»`_§Ìr H$Ý`mXmZ 
{ddmh `moOZm'' Ho$ CÔoí` h¡ ?

	 i.	 H$Ý`mAmo§ Ho$ {ddmh _| AmZodmbr Am{W©H$ 
H${R>ZmB© H$m {ZdmaU H$aZm &

	 ii.	 {ddmh Ho$ Adga na {\$OybIM© amoH$Zm &

	 iii.	 gm_y{hH$ {ddmh Ho$ _mÜ`_ go _Zmo~b Ed§ 
AmË_gå_mZ _| d¥{Õ H$aZm &

	 iv.	 Zd{ddm{hV Omo‹S>o H$mo ^mdr OrdZ Ho$ {bE 
Am{W©H$ ghm`Vm àXmZ H$aZm &

		  {ZåZ{b{IV _| go ghr H$moS> H$m M`Z H$a| &

	 (A)	 i, ii VWm iii
	 (B)	 {g\©$ i VWm ii
	 (C)	 {g\©$ i VWm iii
	 (D)	 i, ii, iii VWm iv g^r

	 6.	 {ZåZ{b{IV _| go ~¡pŠQ>[a`m O{ZV amoJ H$m¡Z-go h¡ ?

	 (A)	 {S>pâW[a`m VWm {Q>Q>oZg
	 (B)	 {Q>Q>oZg VWm nmo{b`mo
	 (C)	 nmo{b`mo VWm {S>pâW[a`m
	 (D)	 CnamoŠV _| go H$moB© Zht
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	 7.	 What are the target of Nutrition 
Mission at National Level ?

	 (A)	 Reducing the malnutrition in 
children by 3% every year and 
anemia in girls and women by 2% 
every year

	 (B)	 Reducing the malnutrition in 
children by 2% every year and 
anemia in girls and women by 3% 
every year

	 (C)	 Reducing the malnutrition in 
children by 3% every year and 
anemia in girls and women by 4% 
every year

	 (D)	 None of the above

	 8.	 The Health Level of a child is considered 
critically at risk under what conditions  ?

	 (A)	 If the weight of the child at the birth 
is less than 2 Kg

	 (B)	 The weight of the child is not 
increasing continuously for three 
months

	 (C)	 The weight of the child is going 
down continuously for two months

	 (D)	 All of the above

	 9.	 In the table given below, match correctly 
the year and malnutrition percentage as 
per “Vajan Tyohar”.

	 Group – A		   Group – B
	 (Year)		 (Malnutrition %)
	 i.	 2015 – 2016	 a.	 30.13%
	 ii.	 2016 – 2017	 b.	 23.37%
	 iii.	 2017 – 2018	 c.	 26.33%
	 iv.	 2018 – 2019	 d.	 29.87%
		  i	 ii	 iii	 iv
	 (A)	 d	 a	 b	 c
	 (B)	 d	 a	 c	 b
	 (C)	 a	 d	 c	 b
	 (D)	 None of the above

	 7.	 amîQ́>r` ñVa na nmofU A{^`mZ H$m bú` Š`m h¡ ?

	 (A)	 ~ÀMmo§ _| Hw$nmofU H$mo à{V df© 3% VH$ VWm  
~m{bH$mAmo§ Ed§ _{hbmAmo§ _| E{Z{_`m H$mo 
à{V df© 2% VH$ H$_ H$aZm

	 (B)	 ~ÀMmo§ _| Hw$nmofU H$mo à{V df© 2% VH$ VWm  
~m{bH$mAmo§ Ed§ _{hbmAmo§ _| E{Z{_`m H$mo 
à{V df© 3% VH$ H$_ H$aZm

	 (C)	 ~ÀMmo§ _| Hw$nmofU H$mo à{V df© 3% VH$ VWm  
~m{bH$mAmo§ Ed§ _{hbmAmo§ _| E{Z{_`m H$mo 
à{V df© 4% VH$ H$_ H$aZm

	 (D)	 CnamoŠV _| go H$moB© Zht

	 8.	 {H$gr ~ƒo Ho$ ñdmñÏ` ñVa H$mo {H$Z n[apñW{V`m| 
_| J§^ra ê$n go Omo{I_ ^am _mZm OmVm h¡ ?

	 (A)	 `{X OÝ_ Ho$ g_` {eew H$m dOZ 2 {H$.J«m. go 
H$_ h¡

	 (B)	 {eew H$m dOZ bJmVma VrZ _mh go ~‹T> Zht 
ahm h¡

	 (C)	 {eew Ho$ dOZ _| bJmVma Xmo _{hZo go H$_r 
hmo ahr h¡

	 (D)	 CnamoŠV g^r

	 9.	 df© Ë`m¡hma Ho$ AZwgma ZrMo Xr JB© Vm{bH$m _| df© 

Am¡a Hw$nmofU Ho$ à{VeV H$m ghr {_bmZ H$a| &

			   J«yn - A	    J«yn - B
			     (df©)		 (Hw$nmofU %)
	 i.	 2015 – 2016	 a.	 30.13%
	 ii.	 2016 – 2017	 b.	 23.37%
	 iii.	 2017 – 2018	 c.	 26.33%
	 iv.	 2018 – 2019	 d.	 29.87%
		  i	 ii	 iii	 iv
	 (A)	 d	 a	 b	 c
	 (B)	 d	 a	 c	 b
	 (C)	 a	 d	 c	 b
	 (D)	 CnamoŠV _| go H$moB© Zht
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	 10.	 The percentage of the children upto 
five years suffering from malnutrition 
(weight as per age) in this State and 
India are as follows 

	 (A)	 This State : 37.6%, India : 35.7%
	 (B)	 This State : 37.6%, India : 38.6%
	 (C)	 This State : 37.7%, India : 35.7%
	 (D)	 This State : 37.7%, India : 38.6%

	 11.	 Which of the following group is not 
correct for child in pre-school education 
from 03 – 06 years ?

	 (A)	 Curious, Inquisitive, Imaginative, 
Creative

	 (B)	 Curious, Inquisitive, Simple,  
Self-centered

	 (C)	 Simple, Self-centered, 
Concentrated, Inquisitive

	 (D)	 None of the above

	 12.	 Which of the following is correct about 
“Noni Suraksha Yojna” ?

	 i.	 It was started on 01-04-2014.

	 ii.	 It was started on 01-01-2014.

	 iii.	 Under this scheme, if a girl is not 
married at the age of 18 years 
and completed her education upto 
12th level shall be given a maturity 
amount of ` one lac.

	 iv.	 The beneficiaries registered under 
this scheme were 56518 upto 
January 2021.

		  Choose the correct code. 
	 (A)	 i, iii and iv
	 (B)	 ii, iii and iv
	 (C)	 Only i and iii
	 (D)	 Only iii and iv

	 10.	 05 df© VH$ Ho$ Hw$nmofU go J«{gV ~ÀMmo§ (C_« Ho$ 

AZwgma dOZ) H$m à{VeV amÁ` _| Ed§ ^maV _| 

{ZåZmZwgma h¡

	 (A)	 Bg amÁ` : 37.6%, ^maV : 35.7%
	 (B)	 Bg amÁ` : 37.6%, ^maV : 38.6%
	 (C)	 Bg amÁ` : 37.7%, ^maV : 35.7%
	 (D)	 Bg amÁ` : 37.7%, ^maV : 38.6%

	 11.	 embm-nyd© {ejm Ho$ gå~ÝY _| 03 go 06 df© Ho$ 
~ÀMm| Ho$ {bE {ZåZ{b{IV _| go H$m¡Z-gm J«wn 
ghr Zht h¡ ?

	 (A)	 CËgwH$, {Okmgw, H$ënZmerb, {H«$`merb

	 (B)	 CËgwH$, {Okmgw, ghO, AmË_-Ho$pÝÐV

	 (C)	 ghO, AmË_-Ho$pÝÐV, EH$mJ«{hV, {Okmgw

	 (D)	 CnamoŠV _o§ go H$moB© Zht

	 12.	 ""ZmoZr gwajm `moOZm'' Ho$ g§~§Y _| {ZåZ{b{IV _|  
go Š`m ghr h¡ ?

	 i.	 `h `moOZm 01-04-2014 H$mo àmaå^ H$s 
JB© &

	 ii.	 `h `moOZm 01-01-2014 H$mo àmaå^ H$s 
JB© &

	 iii.	 Bg ̀ moOZm Ho$ VhV 18 df© VH$ b‹S>H$s H$m {ddmh 
Z hmoZo na Ed§ 12 dr VH$ H$s {ejm nyU© H$aZo na  
` 01 bmI n[anŠdVm am{e {XE OmZo H$m 
àmdYmZ h¡ &

	 iv.	 Bg ̀ moOZm Ho$ VhV OZdar 2021 VH$ 56518 
{hVJ«m{h`mo§ H$mo n§OrH¥$V {H$`m J`m &

		  ghr H$moS> H$m M`Z H$a| &

	 (A)	 i, iii VWm iv
	 (B)	 ii, iii VWm iv
	 (C)	 {g\©$ i VWm iii
	 (D)	 {g\©$ iii VWm iv



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		  	 10223/NCW – TC/RCE – M

	 -7-	 Set-A

	 13.	 Which of the following disease is 
transmitted by an insect vector ?

	 (A)	 HIV/AIDS
	 (B)	 Malaria
	 (C)	 TB
	 (D)	 None of the above

	 14.	 Which of the following protein energy 
malnutrition is mostly seen and has the 
most destructing consequences ?

	 (A)	 adulthood and adolescence
	 (B)	 adolescence and early childhood
	 (C)	 infancy and early childhood
	 (D)	 only infancy

	 15.	 Match the districts of this State with 
number of running Anganvadi Centres 
upto November 2020.

	 List – A	 List – B
	 (Name of District)	 (No. of running 	
		  Anganvadi 	
		  Centres)
	 i.	 Balrampur	 a.	 2894

	 ii.	 Jashpur	 b.	 2694

	 iii.	 Korba	 c.	 2280

	 iv.	 Rajnandgaon	 d.	 2931

	 v.	 Raigarh	 e.	 2005

		  i	 ii	 iii	 iv	 v
	 (A)	 b	 c	 d	 e	 a

	 (B)	 a	 b	 c	 d	 e

	 (C)	 c	 d	 a	 b	 e

	 (D)	 e	 d	 c	 b	 a

	 13.	 {ZåZ{b{IV _| go H$m¡Z-gr ~r_mar BZgoŠQ> doŠQ>a 
Ho$ Ûmam g§Mm[aV hmoVr h¡ ?

	 (A)	 EM.AmB©.dr./ES²>g
	 (B)	 _bo[a`m
	 (C)	 Q>r~r
	 (D)	 CnamoŠV _| go H$moB© Zht

	 14.	 {ZåZ{b{IV _| go {H$g_| àmoQ>rZ EZOu Hw$nmofU 
gm_mÝ`V: {XImB© XoVm h¡ Ed§ A{YH$V_ KmVH$ 
n[aUm_ hmoVo h¢ ?

	 (A)	 d`ñH$Vm Am¡a {H$emoamdñWm
	 (B)	 {H$emoamdñWm Am¡a ~MnZ
	 (C)	 {eew AdñWm Am¡a ~MnZ
	 (D)	 Ho$db {eew AdñWm

	 15.	 Bg amÁ` Ho$ {Obm| H$mo Zdå~a 2020 VH$ g§Mm{bV 

Am§JZdm‹S>r H|$Ð H$s g§»`mAm| go gw_o{bV H$s{OE &

	     gyMr - A		      gyMr - B
	 ({Obo H$m Zm_)	 (g§Mm{bV Am§JZdm‹S>r 	
			   H|$Ðmo§ H$s g§»`m)

	 i.	 ~bam_nwa	 a.	 2894

	 ii.	 Oenwa	 b.	 2694

	 iii.	 H$moa~m	 c.	 2280

	 iv.	 amOZm§XJm§d	 d.	 2931

	 v.	 am`J‹T>	 e.	 2005

		  i	 ii	 iii	 iv	 v
	 (A)	 b	 c	 d	 e	 a

	 (B)	 a	 b	 c	 d	 e

	 (C)	 c	 d	 a	 b	 e

	 (D)	 e	 d	 c	 b	 a
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	 16.	 Under the protection of women 
from Domestic Violence Act, 2005 
“Physical abuse” means

	 (A)	 Bodily pain, harm

	 (B)	 Danger to life or limb, danger to 
health

	 (C)	 Assault, criminal intimidation and 
criminal force

	 (D)	 All the above

	 17.	 i.	 Integrated Child Development 
Project commenced from  
02 October 1975.

	 ii.	 Referral services are given for the 
physically handicaped children, 
children at risk and sick children.

	 iii.	 Pre-school Education is given for 
children between 03 – 06 years.

	 iv.	 Supplementary Nutrition Scheme 
is given for newly born children.

		  Which of the above four statements 
is true ? 

	 (A)	 i, ii and iii

	 (B)	 ii, iii and iv

	 (C)	 iii, iv and i

	 (D)	 iv, i and ii

	 16.	 Kaoby qhgm go ñÌr H$m g§ajU A{Y{Z`_, 2005 

Ho$ AÝVJ©V ""emar[aH$ Xþì`©dhma'' go A{^àoV h¡

	 (A)	 emar[aH$ nr‹S>m, hm{Z

	 (B)	 OrdZ `m emar[aH$ A§J H$mo IVam, ñdmñÏ` 
H$mo IVam

	 (C)	 àhma, Amnam{YH$ ^` Am¡a Amnam{YH$ 
~b

	 (D)	 CnamoŠV g^r

	 17.	 i.	 g_o{H$V ~mb {dH$mg n[a`moOZm 02 AŠVy~a 

1975 go ewê$ hþB© &

	 ii.	 g§X{^©V godmE± emar[aH$ ê$n go {dH$bm§J 

~ƒm|, Omo{I_ dmbo ~ƒm| Am¡a ~r_ma ~ƒm| 

H$mo Xr OmVr h¡ &

	 iii.	 embm-nyd© {ejm 03 go 06 df© Ho$ ~rM Ho$ 

~ƒm| H$mo Xr OmVr h¡ &

	 iv.	 nyaH$ nmofU `moOZm ZdOmV {eewAm| Ho$ {bE 
{ZYm©[aV h¡ &

		  CnamoŠV Mma H$WZm| _| go H$m¡Z-gm ghr h¡ ? 

	 (A)	 i, ii VWm iii
	 (B)	 ii, iii VWm iv

	 (C)	 iii, iv VWm i

	 (D)	 iv, i VWm ii
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	 18.	 Integrated Child Development Scheme 
was commenced in following Blocks and 
Anganwadi Centres on 02 October 1975.

		  Choose the correct pair. 

	 (A)	 4791 Anganvadi Centres,  
33 Blocks

	 (B)	 4891 Anganvadi Centres,  
23 Blocks

	 (C)	 4891 Anganvadi Centres,  
33 Blocks

	 (D)	 4791 Anganvadi Centres,  
23 Blocks

	 19.	 Consider the following statements for 
census 2011 of India :

	 i.	 The population of India was 
121.02 crores.

	 ii.	 The population of children below 
06 years was 13.88 crores in 
India.

	 iii.	 The population of this State was 
2.56 crores.

	 iv.	 The population of children below 
06 years was 35.84 lacs in this 
State.

		  Which of the above four statements is 
true ?

	 (A)	 i, ii and iii	 (B)	 ii, iii and iv
	 (C)	 iii, iv and i	 (D)	 iv, i and ii

	 20.	 Which of these is not considered a 
nutrient ?

	 (A)	 Vitamins
	 (B)	 Minerals
	 (C)	 Fiber
	 (D)	 Fats

	 18.	 02 AŠVy>~a 1975 H$mo {ZåZ{b{IV {dH$mg IÊS>mo§ 
Ed§ Am§JZdm‹S>r Ho$§Ðm| _| g_o{H$V ~mb {dH$mg ̀ moOZm 
H$mo àmaå^ {H$`m J`m & 

		  ghr `w½_ H$m M`Z H$a| &

	 (A)	 33 {dH$mg IÊS> Ed§ 4791 Am§JZdm‹S>r  
Ho$ÝÐ>m| _|

	 (B)	 23 {dH$mg IÊS> Ed§ 4891 Am§JZdm‹S>r 
Ho$ÝÐm| _|

	 (C)	 33 {dH$mg IÊS> Ed§ 4891 Am§JZdm‹S>r 
Ho$ÝÐm| _|

	 (D)	 23 {dH$mg IÊS> Ed§ 4791 Am§JZdm‹S>r 
Ho$ÝÐm| _|

	 19.	 ^maV H$s OZJUZm 2011 Ho$ {bE {ZåZ{b{IV 
H$WZm| na {dMma H$s{OE :

	 i.	 ^maV H$s OZg§»`m 121.02 H$amo‹S> Wr &

	 ii.	 ^maV df© _o§ 06 go H$_ Am`w Ho$ ~ÀMmo§ H$s 
OZg§»`m 13.88 H$amo‹S> Wr &

	 iii.	 Bg amÁ` H$s OZg§»`m 2.56 H$amo‹S> Wr &

	 iv.	 Bg amÁ` _| 06 go H$_ Am`w dmbo ~ÀMmo§ H$s 
OZg§»`m 35.84 bmI Wr &

		  CnamoŠV Mma H$WZm| _| go H$m¡Z-gm ghr h¡ ?

	 (A)	 i, ii VWm iii	 (B)	 ii, iii VWm iv
	 (C)	 iii, iv VWm i	 (D)	 iv, i VWm ii

	 20.	 {ZåZ{b{IV _| go H$m¡Z-gm nmofH$ VÎd Zht h¡ ?

	 (A)	 {dQ>m{_Z
	 (B)	 {_Zab (I{ZO nXmW©)
	 (C)	 \$mB~a (aoem)
	 (D)	 dgm
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	 21.	 Which of the following conclusions 
is correct according to the given 
expressions and symbols ?

		  A : >|,  B : >,  C : ≠,  D : =,  E : <|,  F : <

		  Expressions : (a E b) and (b E c)

	 (A)	 a E c	 (B)	 a F c
	 (C)	 c B a	 (D)	 c B b

	 22.	 Which one of the four interchanges 
in signs and numbers would make 
the given equation correct ?

		  4 × 6 – 2 = 14

	 (A)	 × to ÷, 2 and 4

	 (B)	 – to ÷, 2 and 6 

	 (C)	 – to +, 2 and 6

	 (D)	  × to ÷, 4 and 6

	 23.	 Select the box that cannot be formed 
by folding the given unfolded box.

		

	 (A)	 	 (B)	

	 (C)	 	 (D)	 	

Part – 2
gm_mÝ` _mZ{gH$ `mo½`Vm Ed§ gm_mÝ` kmZ

	 21.	 {X`o J`o A{^ì`pŠV Am¡a àVrH$ Ho$ AZwgma {X`o 
J`o H$m¡Z-gm {ZîH$f© ghr h¡ ?

		  A : >|,  B : >,  C : ≠,  D : =,  E : <|,  F : <

		  A{^ì`pŠV : (a E b) Am¡a (b E c)

	 (A)	 a E c	 (B)	 a F c

	 (C)	 c B a	 (D)	 c B b

	 22.	 g§Ho$Vm| Am¡a g§»`mAm| _| Mma _| go H$m¡Z-gm EH$ nañna 

n[adV©Z {XE JE g_rH$aU H$mo ghr ~Zm XoJm ?

		  4 × 6 – 2 = 14

	 (A)	 × go ÷, 2 Am¡a 4

	 (B)	 – go ÷, 2 Am¡a 6 

	 (C)	 – go +, 2 Am¡a 6

	 (D)	  × go ÷, 4 Am¡a 6

	 23.	 Cg ~mŠg H$m M`Z H$a| Omo {XE JE AZ\$moëS>oS> 

~mŠg H$mo _mo‹S>H$a Zhr§ ~Zm`m Om gH$Vm h¡ &

		

	 (A)	 	 (B)	

	 (C)	 	 (D)	 	

General Mental Aptitude and 
General Knowledge
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	 24.	 {X ò J ò AmH¥${V _| KZm| H$s g§»`m H$m JUZm H$a| &

		

	 (A)	 69

	 (B)	 70

	 (C)	 72

	 (D)	 73

	 25.	 H$m¡Z-gm A§H$ 4 Ho$ {dnarV \$bH$ _| hmoJm ?

		

	 (A)	 3

	 (B)	 5

	 (C)	 6

	 (D)	 2/3

	 24.	 Count the number of cubes in the given 
figure.

		

	 (A)	 69

	 (B)	 70

	 (C)	 72

	 (D)	 73

	 25.	 Which number is on the face 
opposite to 4 ?

		

	 (A)	 3

	 (B)	 5

	 (C)	 6

	 (D)	 2/3
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	 26.	 Amo{_H«$mZ g~go nhbo {H$g Xoe _| nm`o OmZo H$s 
OmZH$mar {díd ñdmñÏ` g§JR>Z H$mo {_br ?

	 (A)	 ~opëO`_
	 (B)	 BµOamBb
	 (C)	 X{jU A\«$sH$m
	 (D)	 {~«Q>oZ

	 27.	 ^maV Ho$ {bE ""~hþ-Am`m_r {ZY©ZVm H$m à{VdoXZ'' 
df© 2021 _| {H$gZo Omar {H$`m ?

	 (A)	 {dÎm _§Ìr

	 (B)	 ^maVr` [aµOd© ~¢H$

	 (C)	 Zr{V Am`moJ

	 (D)	 {díd ~¢H$

	 28.	 dV©_mZ _| ̂ maV H$s gH$b Kaoby CËnmX _| {H$g joÌ 
H$m `moJXmZ A{YH$V_ h¡ ?

	 (A)	 àmW{_H$ joÌ

	 (B)	 {ÛVr`H$ joÌ

	 (C)	 V¥Vr`H$ joÌ

	 (D)	 {d{Z_m©U joÌ

	 29.	 Q>¡{Wg gmJa Ho$ ñWmZ na ~Zm h¡ 

	 (A)	 _mbdm nR>ma

	 (B)	 Aamdbr nd©V

	 (C)	 {h_mb` nd©V

	 (D)	 {dÝÜ`mMb nd©V

	 26.	 In which country, the occurrence of 
first case of OMICRON was reported 
by World Health Organisation ?

	 (A)	 Belgium
	 (B)	 Israel
	 (C)	 South Africa
	 (D)	 Britain

	 27.	 Who has released “Multi-Dimensional 
Poverty Report’’ for India in the year 
2021 ?

	 (A)	 Finance Minister

	 (B)	 Reserve Bank of India

	 (C)	 Niti Aayog

	 (D)	 World Bank

	 28.	 Which Sector has maximum contribution 
in GDP of India at present ?

	 (A)	 Primary Sector

	 (B)	 Secondary Sector

	 (C)	 Tertiary Sector

	 (D)	 Manufacturing Sector

	 29.	 In the place of Tethys sea, _______ 
is formed.

	 (A)	 Malwa Plateau

	 (B)	 Aravalli Mountain

	 (C)	 Himalaya Mountain

	 (D)	 Vindhyachal Mountain
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	 30.	 {ZåZ{b{IV _o§ go H$m¡Z-gr ZXr ÁdmaZX _wI 
(EñMwar) H$m {Z_m©U H$aVr h¡ ?

	 (A)	 _mhr ZXr

	 (B)	 gm~a_Vr ZXr
	 (C)	 byZr ZXr

	 (D)	 Z_©Xm ZXr

	 31.	 {dbwßV nX H$mo {X`o J`o {dH$ën _| go Mw{ZE &

		  MHZ, NIW, OKT, PNQ, ?

	 (A)	 RRN

	 (B)	 QRN

	 (C)	 QRM

	 (D)	 QQN

	 32.	 {X`o J`o H$m¡Z-gm AmH¥${V _Zwî`, {ejH$ Am¡a 
ñZmVH$ Ho$ _Ü` ghr g§~§Y H$mo Xem©Vm h¡ ?

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 30.	 Which of the following river forms 
estuary ?

	 (A)	 Mahi River

	 (B)	 Sabarmati River

	 (C)	 Luni River

	 (D)	 Narmada River

	 31.	 Choose the missing term out of the 
given alternatives.

		  MHZ, NIW, OKT, PNQ, ?

	 (A)	 RRN

	 (B)	 QRN

	 (C)	 QRM

	 (D)	 QQN

	 32.	 Which of the following diagram correctly 
represents Human being, Teachers and 
Graduates ?

	 (A)	

	 (B)	

	 (C)	

	 (D)	
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	 33.	 ZrMo {X`o J`o AmH¥${V _| d¥Îm amoOJma ì`pŠV H$mo, 
{Ì^wO `wdm ì`pŠV H$mo VWm dJ© A{e{jV ì`pŠV 
H$mo Xem©Vm hmo, Vmo H$m¡Z-gm joÌ `wdm {e{jV Am¡a 
~oamoOJma ì`pŠV`m| H$mo Xem©Vm h¡ ?

		
	 (A)	 2	 (B)	 3
	 (C)	 4	 (D)	 7

	 34.	 {X`o J`o {MÌ _|

		
	 1.	 Am`V emgH$s` H$_©Mmar H$mo Xem©Vm h¡ &

	 2.	 {Ì^wO ehar ì`pŠV H$mo Xem©Vm h¡ &

	 3.	 d¥Îm ñZmVH$ H$mo Xem©Vm h¡ &
	 4.	 dJ© ŠbH©$ H$mo Xem©Vm h¡ &
		  ghr H$WZ H$mo Mw{ZE &
	 (A)	 g^r ehar ì`pŠV ñZmVH$ h¡§ 
	 (B)	 Hw$N> ŠbH©$ emgH$s` H$_©Mmar h¡ naÝVw ehar 

Zht h¡  
	 (C)	 g^r emgH$s` H$_©Mmar ŠbH©$ h¢

	 (D)	 Hw$N> ehar ì`pŠV ñZmVH$ Zht h¡

	 33.	 In the figure given below, the circle 
represents employed persons, triangle 
represents young persons and square 
represents uneducated person, 
then which region represents young 
educated and unemployed person ?

		
	 (A)	 2	 (B)	 3
	 (C)	 4	 (D)	 7

	 34.	 In the given diagram 

		
	 1.	 The rectangle represents 

Government employees.
	 2.	 The triangle represents urban 

people.
	 3.	 The circle represents graduates.
	 4.	 The square represents clerks.
		  Choose the correct statements.
	 (A)	 All urban people are graduates
	 (B)	 Some clerk are Government 

employees but not urban
	 (C)	 All Government employees are 

clerks
	 (D)	 Some urban people are not 

graduates
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	 35.	 `{X Pan = 12, Vmo Boy {H$g A§H$ Ho$ ~am~a 
hmoJm ?

	 (A)	 34

	 (B)	 40

	 (C)	 28

	 (D)	 CnamoŠV _| go H$moB© Zht

	 36.	 {ZåZ{b{IV _| go H$m¡Z-gr Jw\$m VraWJ‹T> Ob ànmV 
Ho$ {ZH$Q> h¡ ?

	 (A)	 hmWr Jw\$m

	 (B)	 OmoJr _mam Jw\$m

	 (C)	 Hw$Qw>_ga Jw\$m

	 (D)	 grVm~oJ«m Jw\$m

	 37.	 A{^H$WZ (A) : H¥${Ì_ CnJ«h H$m àjonU h_oem 

n¥Ïdr Ho$ nydu {Xem go {H$`m OmVm h¡ &

		  H$maU (R) : n¥Ïdr npíM_ go nyd© H$s Amoa 
Ky{U©V hmoZo Ho$ H$maU CnJ«h nbm`Z doJ àmßV H$a  
boVm h¡ &

	 (A)	 (A) Ed§ (R) XmoZm| gË` h¡§ Ed§ (R), (A) H$s 

ghr ì`m»`m h¡ 

	 (B)	 (A) Ed§ (R) XmoZm| gË` h¡§ naÝVw (R), (A) 

H$s ghr ì`m»`m Zht h¡ 

	 (C)	 (A) gË` h¡ naÝVw (R) AgË` h¡ 

	 (D)	 (A) AgË` h¡ naÝVw (R) gË` h¡ 

	 35.	 If Pan = 12, then Boy is equal to which 
number ?

	 (A)	 34

	 (B)	 40

	 (C)	 28

	 (D)	 None of the above

	 36.	 Which of the following caves is nearer 
to Tirathgarh Falls ?

	 (A)	 Elephanta Cave

	 (B)	 Jogi Mara Cave

	 (C)	 Kutumsar Cave

	 (D)	 Sitabegra Cave

	 37.	 Assertion (A) : Artificial satellites are 
always launched from the earth in the 
eastward direction.

		  Reason (R) : The earth rotates from 
west to east so the satellite attains the 
escape velocity.

	 (A)	 Both (A) and (R) are true and (R) 
is the correct explanation of (A)

	 (B)	 Both (A) and (R) are true but (R) is 
not the correct explanation of (A)

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true
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	 38.	 {ZåZ na {dMma H$s{O`o :
	 1.	 àH$me-g§íbofU
	 2.	 ídgZ
	 3.	 H$m~©{ZH$ nXmW© H$m j`
	 4.	 Ádmbm_wIr H$m {dñ\$moQ>
		  CnamoŠV _| go H$m¡Z H$m~©Z MH«$> _| H$m~©Z 

S>m`AmŠgmBS> H$m `moJ Zht H$aVm h¡ ?

	 (A)	 Ho$db 1 Ed§ 4
	 (B)	 Ho$db 1
	 (C)	 Ho$db 1 Ed§ 2
	 (D)	 Ho$db 3 Ed§ 4

	 39.	 gyMr - I H$mo gyMr - II go gw_o{bV H$aHo$ {ZåZ H$moS> 

H$s ghm`Vm go ghr CÎma H$m M`Z H$s{O`o :

	 gyMr – I	 gyMr – II

	 (`m¡{JH$)	 (AZwà`moJ)

	 a.	 ã`yQ>mS>mB©Z	 1.	 a~‹S> CÚmoJ

	 b.	BTX {_lU	 2.	H$m±M CÚmoJ

	 c.	\$mñ\$moag	 3.	 a§OH$ CÚmoJ

	 d.	EZrbrZ	 4.	_m{Mg CÚmoJ

	 e.	H$mna AmŠgmBS>	 5.	noQ´>mo{b`_ CÚmoJ

		  H$moS> :

	 a	 b	 c	 d	 e
	 (A)	 5		  1		  3		  2		  4

	 (B)	 5		  3		  4		  2		  1

	 (C)	 1		  2		  3		  4		  5

	 (D)	 1		  5		  4		  3		  2

	 38.	 Consider the following :

	 1.	 Photosynthesis
	 2.	 Respiration
	 3.	 Decay of organic matter
	 4.	 Volcanic eruption
		  Which of the above does not add 

carbon dioxide to carbon cycle ?

	 (A)	 1 and 4 only
	 (B)	 1 only

	 (C)	 1 and 2 only
	 (D)	 3 and 4 only

	 39.	 Match List – I with List – II and select 
the correct answer using following 
codes :

	 List – I	 List – II

	 (Compound)	 (Uses)

	 a.	 Butadiene	 1.	Rubber Industry

	 b.	 BTX mixture	 2.	Glass Industry

	 c.	Phosphorus	 3.	Dye Industry

	 d.	 Aniline	 4.	Match Industry

	 e.	 Copper oxide	 5.	Petroleum 
Industry

		  Codes :

	 a	 b	 c	 d	 e
	 (A)	 5		  1		  3		  2		  4

	 (B)	 5		  3		  4		  2		  1

	 (C)	 1		  2		  3		  4		  5

	 (D)	 1		  5		  4		  3		  2
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	 40.	 Cryogenic technique find application in

	 (A)	 Space travel, surgery, magnetic 

levitation

	 (B)	 Space travel, surgery, telemetry

	 (C)	 Frost free refrigerator, submarine 

propulsion, telemetry

	 (D)	 Surgery, frost free refrigerator, 

submarine propulsion

	 41.	 What is included in a money bill ?
	 i.	 Imposition of taxes
	 ii.	 Abolition of taxes
	 iii.	 Remission of taxes
	 iv.	 Regulation of taxes
	 (A)	 i
	 (B)	 i, ii
	 (C)	 i, ii, iii
	 (D)	 i, ii, iii, iv

	 42.	 What is correct ?
	 i.	 Lok Sabha has no right to vote on 

expenses charged on consolidated 
fund.

	 ii.	 Lok Sabha has right to discuss 
on the expenses charged on 
consolidated fund.

	 (A)	 i is correct
	 (B)	 ii is correct
	 (C)	 i and ii both are correct
	 (D)	 i and ii both are wrong

	 40.	 H«$m`moOo{ZH$ VH$ZrH$ H$m AZwà`moJ ______ _| 
hmoVm h¡ &

	 (A)	 A§V[aj `mÌm, eë`{H«$`m, Mwå~H$s` 
CÎmmobZ

	 (B)	 A§V[aj `mÌm, eë`{H«$`m, Xÿa_mnr

	 (C)	 \«$mñQ> _wŠV ao{\«${µOaoQ>a, nZSw>ã~r g§MmbZ 

epŠV, Xÿa_mnr

	 (D)	 eë`{H«$`m, \«$mñQ> _wŠV ao{\«${µOaoQ>a, nZSw>ã~r 

g§MmbZ epŠV

	 41.	 YZ {dYo`H$ _| Š`m gpå_{bV hmoVm h¡ ?
	 i.	 H$am| H$m A{YamonU
	 ii.	 H$am| H$m CËgmXZ
	 iii.	 H$am| H$m n[ahma
	 iv.	 H$am| H$m {Z`_Z
	 (A)	 i
	 (B)	 i, ii
	 (C)	 i, ii, iii
	 (D)	 i, ii, iii, iv

	 42.	 ghr Š`m h¡ ? 
	 i.	 bmoH$ g^m H$mo g§{MV {Z{Y na ^m[aV ì`` 

na _V XoZo H$m A{YH$ma Zht h¡ &

	 ii.	 bmoH$ g^m H$mo g§{MV {Z{Y na ^m[aV ì`` 
na ~hg H$aZo H$m A{YH$ma h¡ &

	 (A)	 i  ghr h¡
	 (B)	 ii  ghr h¡
	 (C)	 i Am¡a ii XmoZm| ghr h¡§
	 (D)	 i Am¡a ii XmoZm| JbV h¡§



		  	 10223/NCW – TC/RCE – M

	 -18-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	 43.	 g§`wŠV bmoH$ godm Am`moJ H$s {Z`wpŠV H$s à{H«$`m 
Ho$ {df` _| ghr Š`m h¡ ? 

	 i.	 amÁ` {dYmZ _ÊS>bm| Ho$ Ûmam EH$ g§H$ën 
nm[aV hmoZm Mm{hE &

	 ii.	 g§gX {d{Y Ûmam g§`wŠV bmoH$ godm Am`moJ 
H$s {Z`wpŠV H$m Cn~ÝY H$aoJr &

	 iii.	 BgHo$ AÜ`j Am¡a gXñ`m| H$s {Z`wpŠV 
amîQ´>n{V H$a|Jo &

	 (A)	 i, ii, iii
	 (B)	 ii, iii
	 (C)	 i, iii
	 (D)	 Cn`w©ŠV _| go H$moB© Zht

	 44.	 Bg amÁ` Ho$ àW_ BWoZm°b ßbm§Q> H$s ñWmnZm {ZåZ 
_| go {H$g ñWmZ na H$s OmdoJr ?

	 (A)	 A§{~H$mnwa	 (B)	 am`J‹T>
	 (C)	 H$dYm©	 (D)	 amOZm§XJm§d

	 45.	 Amobm\$ ñH$moëO Zo {ZåZ _| go {H$g Xoe Ho$ Mm§gba 
H$m nX^ma g§^mbm ?

	 (A)	 \«$m§g	 (B)	 O_©Zr
	 (C)	 {~«Q>oZ	 (D)	 BQ>br

	 46.	 {H$gr gm§Ho${V>H$ ^mfm _| ‘289’ H$m _Vb~ ‘read 
from paper’, ‘276’ H$m _Vb~ ‘tea from 
field’ Am¡a ‘85’ H$m _Vb~ ‘wall paper’ h¡, 
Vmo {ZåZ _| ‘read’ Ho$ {bE H$moS> H$m¡Z-gm h¡ ?

	 (A)	 2	 (B)	 8
	 (C)	 9	 (D)	 5

	 43.	 What is correct about the procedure 
to appoint Joint Public Service 
Commission ?

	 i.	 A resolution should be passed by 
State Legislative Assemblies.

	 ii.	 Parliament will by law provide to 
appoint a Joint Public Service 
Commission.

	 iii.	 President will appoint its Chairman 
and Members.

	 (A)	 i, ii, iii
	 (B)	 ii, iii
	 (C)	 i, iii
	 (D)	 None of the above

	 44.	 In which of the following location first 
ethanol plant of this State will be 
established ?

	 (A)	 Ambikapur	 (B)	 Raigarh
	 (C)	 Kawardha	 (D)	 Rajnandgaon

	 45.	 Olaf Scholz took the charge of Chancellor 
of which of the following country ?

	 (A)	 France	 (B)	 Germany
	 (C)	 Britain	 (D)	 Italy

	 46.	 In a certain code ‘289’ means ‘read 
from paper’, ‘276’ means ‘tea from 
field’ and ‘85’ means ‘wall paper’, then 
which of the following is the code for 
‘read’ ?

	 (A)	 2	 (B)	 8
	 (C)	 9	 (D)	 5
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	 47.	 Count the number of triangles in the 
following figure.

		
	 (A)	 16	 (B)	 18
	 (C)	 20	 (D)	 19

	 48.	 How many triangles does the 
following figure have ?

		

	 (A)	 36	 (B)	 40

	 (C)	 48	 (D)	 50	

	 49.	 Find the missing term.

A H E

A I N

A J ?

	 (A)	 W	 (B)	 X
	 (C)	 B	 (D)	 K

	 47.	 {X`o J`o AmH¥${V _| {Ì^wOm| H$s g§»`m H$m JUZm 
H$a| &

		
	 (A)	 16	 (B)	 18
	 (C)	 20	 (D)	 19

	 48.	 {X`o J`o {MÌ _| {H$VZo {Ì^wO h¢ ?

		

	 (A)	 36	 (B)	 40

	 (C)	 48	 (D)	 50	

	 49.	 {dbwßV nX H$mo kmV H$s{OE &

A H E

A I N

A J ?

	 (A)	 W	 (B)	 X
	 (C)	 B	 (D)	 K
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	 50.	 Find the missing term.

6 12 8

3 18 24

18 ? 36

	 (A)	 32	 (B)	 36
	 (C)	 72	 (D)	 162

	 51.	 Match the number of National Award 
received by this State in 2021 and 
the Scheme or Campaign. 

	 a.	 Gram Swaraj Abhiyan 	 i.	3
	 b.	 National Panchayat	 ii.	5
		  Award
	 c.	 For the welfare of 	 iii.	9
		  persons with disabilities
	 d.	 Work of nutrition	 iv.	12
		  Campaign
		  a	 b	 c	 d
	 (A)	 i	 ii	 iii	 iv
	 (B)	 iii	 iv	 i	 ii
	 (C)	 ii	 i	 iv	 iii
	 (D)	 iv	 ii	 i	 iii

	 52.	 The name of Sanctuary specially made 
for Elephants in this State

	 (A)	 Lamaru

	 (B)	 Achankmar

	 (C)	 Pamed
	 (D)	 Semarsot

	 50.	 {dbwßV nX H$mo kmV H$s{OE &

6 12 8

3 18 24

18 ? 36

	 (A)	 32	 (B)	 36
	 (C)	 72	 (D)	 162

	 51.	 Bg amÁ` H$mo àmßV 2021 Ho$ amîQ´>r` nwéñH$mam| 
H$s g§»`m H$mo CgHo$ `moOZm AWdm A{^`mZm| go 
gw_o{bV H$s{O`o &

	 a.	 J«m_ ñdamO A{^`mZ 	 i.	3
	 b.	 amîQ´>r` n§Mm`V AdmS>©	 ii.	5

	 c.	 {Xì`m§J OZm| Ho$ H$ë`mU hoVw 	 iii.	9

	 d.	 nmofU A{^`mZ _| H$m`©	 iv.	12

		  a	 b	 c	 d
	 (A)	 i	 ii	 iii	 iv
	 (B)	 iii	 iv	 i	 ii
	 (C)	 ii	 i	 iv	 iii
	 (D)	 iv	 ii	 i	 iii

	 52.	 Bg amÁ` _| hmWr`m| Ho$ {b`o {deof ê$n go ~Zm`o 
J`o A^`maÊ` H$m Zm_ h¡

	 (A)	 bo_ê$
	 (B)	 AMmZH$_ma
	 (C)	 nm_o‹S>
	 (D)	 go_agmoV
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	 53.	 Match the events of Shivaji’s period 
with their year.

	 a.	 Treaty of Purandar	 i.	 1673
	 b.	 Coronation of Shivaji	 ii.	 1664
	 c.	 First invaded of Surat	 iii.	 1665
	 d.	 Conflict with 	 iv.	 1674
		  Shaista Khan
		  a	 b	 c	 d
	 (A)	 i	 ii	 iii	 iv
	 (B)	 ii	 i	 iv	 iii
	 (C)	 iii	 iv	 ii	 i
	 (D)	 iv	 iii	 ii	 i

	 54.	 To which community did Sidhu and 
Kanhu the leader of the Tribal revolt 
against the British policy belonged ?

	 (A)	 Santhal
	 (B)	 Khond
	 (C)	 Bhumij
	 (D)	 Juwang

	 55.	 What is included in protection in respect 
of conviction for offence according to 
Article 20 of Constitution ?

	 i.	 Protection from ex post facto law
	 ii.	 Protection from double jeopardy
	 iii.	 Protection from self incrimination
	 iv.	 Protection from ineligibility
	 (A)	 i
	 (B)	 i, ii
	 (C)	 i, ii, iii
	 (D)	 i, ii, iii, iv

	 53.	 {edmOr Ho$ H$mb H$s KQ>ZmAm| H$mo CZHo$ df© go 
gw_o{bV H$s{O`o &

	 a.	 nwaÝXa H$s g§{Y	 i.	 1673
	 b.	 {edmOr H$m amÁ`m{^foH$	 ii.	 1664
	 c.	 gyaV H$s àW_ byQ>	 iii.	 1665
	 d.	 emBñVm Im§ go g§Kf© 	 iv.	 1674

		  a	 b	 c	 d
	 (A)	 i	 ii	 iii	 iv
	 (B)	 ii	 i	 iv	 iii
	 (C)	 iii	 iv	 ii	 i
	 (D)	 iv	 iii	 ii	 i

	 54.	 {~«{Q>e Zr{V Ho$ {déÕ OZOmVr {dÐmoh Ho$ ZoVm {gÕÿ 
Ed§ H$mÝhÿ {H$g g_wXm` Ho$ Wo ?

	 (A)	 g§Wmb
	 (B)	 Imo‹§S>
	 (C)	 ^y{_O
	 (D)	 OwAm§J

	 55.	 g§{dYmZ Ho$ AZwÀN>oX 20 Ho$ AZwgma AnamYm| 
Ho$ {bE Xmof {g{Õ Ho$ gå~§Y _| g§ajU _| Š`m 
em{_b h¡ ?

	 i.	 H$m`m}Îma {d{Y go g§ajU
	 ii.	 Xmohao XÊS> go g§ajU
	 iii.	 AmË_ A{^e§gZ go g§ajU
	 iv.	 AnmÌVm go g§ajU

	 (A)	 i
	 (B)	 i, ii
	 (C)	 i, ii, iii
	 (D)	 i, ii, iii, iv
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	 56.	 Find the odd one.

	 (A)	 CP	 (B)	 GL

	 (C)	 IJ	 (D)	 HJ

	 57.	 Choose the odd numerical pair.

	 (A)	 8 – 320

	 (B)	 7 – 441

	 (C)	 9 – 243

	 (D)	 6 – 108

	 58.	 Find out the wrong term.

		  445, 221, 109, 46, 25, 11, 4

	 (A)	 25	 (B)	 46

	 (C)	 109	 (D)	 221

	 59.	 Find out the missing number in the 
following series.

		  2, 7, 11, 21, 35, ___
	 (A)	 61

	 (B)	 64

	 (C)	 70

	 (D)	 None of the above

	 60.	 Find out the missing letter in the 
following series.

		  I, G, E, J, H, F, K, I, G, ____
	 (A)	 E

	 (B)	 J
	 (C)	 L
	 (D)	 None of the above

	 56.	 {df_Vm H$mo nhMmZo§ &

	 (A)	 CP	 (B)	 GL

	 (C)	 IJ	 (D)	 HJ

	 57.	 {df_ g§»`mË_H$ `w½_ H$mo Mw{ZE &

	 (A)	 8 – 320

	 (B)	 7 – 441

	 (C)	 9 – 243

	 (D)	 6 – 108

	 58.	 JbV nX H$mo kmV H$s{OE &

		  445, 221, 109, 46, 25, 11, 4

	 (A)	 25	 (B)	 46

	 (C)	 109	 (D)	 221

	 59.	 {X`o J`o loUr _| {dbwßV g§»`m H$mo kmV H$s{OE &

		  2, 7, 11, 21, 35, ____
	 (A)	 61

	 (B)	 64

	 (C)	 70

	 (D)	 CnamoŠV _| go H$moB© Zht

	 60.	 {X`o J`o loUr _| {dbwßV Aja H$mo kmV H$s{OE &

		  I, G, E, J, H, F, K, I, G, ____
	 (A)	 E
	 (B)	 J
	 (C)	 L
	 (D)	 CnamoŠV _| go H$moB© Zht



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		  	 10223/NCW – TC/RCE – M

	 -23-	 Set-A

	 61.	 BZ_| go H$m¡Z-gm eãX XoeO eãX Zht h¡ ?
	 (A)	 \$mQ>H$	 (B)	 MH$MH$
	 (C)	 Iam©Q>m	 (D)	 H$ZñVa

	 62.	 A{V{W H$m n`m©`dmMr eãX Š`m h¡ ?
	 (A)	 A{^dmXH$	 (B)	 Aä`mJV
	 (C)	 A{^^mdH$	 (D)	 A{^_V

	 63.	 ewÕ eãX H$s nhMmZ H$s{OE &
	 (A)	 A{^goH$	 (B)	 A{^foH$
	 (C)	 A{^eoH$	 (D)	 A^rfoH$

	 64.	 ewÕ dmŠ` H$s nhMmZ H$s{OE &
	 (A)	 CgZo CgHo$ Jbo _| EH$ \y$bm| H$s _mbm S>mbr &
	 (B)	 CgZo CgHo$ Jbo _| \y$bm| H$s _mbm S>mbr &
	 (C)	 CgZo CgHo$ Jbo _| _mbm S>mbr &
	 (D)	 CgZo CgHo$ Jbo _| \y$bm| H$s EH$ _mbm S>mbr &

	 65.	 dmŠ` H$m Amdí`H$ VÎd Zht h¡ 
	 (A)	 gmW©H$Vm	 (B)	 `mo½`Vm
	 (C)	 CÔoí`	 (D)	 nXH«$_
	 66.	 ewÕ eãX H$s nhMmZ H$s{OE &
	 (A)	 Am{edm©X	 (B)	 Am{e©dmX
	 (C)	 Amerdm©X	 (D)	 gAm{edm©X

	 67.	 XþJ}e _| H$m¡Z-gr g§{Y h¡ ?
	 (A)	 XrK© ñda g§{Y	 (B)	 JwU ñda g§{Y
	 (C)	 d¥{Õ ñda g§{Y	 (D)	 `U ñda g§{Y

	 68.	 BZ_| go VËg_ eãX Zht h¡ 
	 (A)	 H$ny©a	 (B)	 Xw½Y
	 (C)	 A§JyR>r	 (D)	 AQ²>Q>m{bH$m
	 69.	 C D$ H$m CƒmaU ñWmZ Š`m h¡ ?
	 (A)	 _yY©Ý`	 (B)	 AmoîR²>`
	 (C)	 H§$R²>`	 (D)	 XÝË`

	 70.	 ZdamÌ _| H$m¡Z-gm g_mg h¡ ?
	 (A)	 VËnwéf g_mg	 (B)	 ~hþd«r{h g_mg
	 (C)	 H$_©Yma` g_mg	 (D)	 {ÛJw g_mg

	 71.	 N>ÎmrgJ‹T>r ^mfm H$s bmoH$JmWm "\y$b~mgZ' _| 
{H$gH$s H$Wm h¡ ?

	 (A)	 grVm Am¡a hZw_mZ
	 (B)	 grVm Am¡a amdU
	 (C)	 grVm Am¡a am_
	 (D)	 grVm Am¡a bú_U

	 72.	 N>ÎmrgJ‹T>r eãX "Img' H$m qhXr AZwdmX h¡ 
	 (A)	 AÜ`j	 (B)	 d[aîR>
	 (C)	 {d{eîQ>>	 (D)	 àYmZ

	 73.	 qhXr eãX "g§`moOH$' H$m N>ÎmrgJ‹T>r _| AZwdmX 
hmoJm 

	 (A)	 PmoH$B`m
	 (B)	 OmoaB`m
	 (C)	 nR>m¡B`m
	 (D)	 {gaOZB`m

	 74.	 N>ÎmrgJ‹T>r H$m àma§{^V {b{IV ê$n H$~ go _mZm 
OmVm h¡ ?

	 (A)	 gZ² 1890 B©.
	 (B)	 gZ² 1857 B©.
	 (C)	 gZ² 1885 B©.
	 (D)	 gZ² 1703 B©.

	 75.	 npíM_r N>ÎmrgJ‹T>r {H$ggo à^m{dV h¡ ?
	 (A)	 ~Kobr Am¡a ^moOnwar
 	 (B)	 ~w§Xobr Am¡a _amR>r
	 (C)	 C{‹S>`m Am¡a ^moOnwar
	 (D)	 _amR>r Am¡a Jm|S>r

Part – 3
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	 76.	 The new tower blocks are ______ than 

the old buildings.
	 (A)	 expensive
	 (B)	 stronger
	 (C)	 much higher
	 (D)	 none of the above

	 77.	 Choose the correct antonym of the 
word : 

		  Invigorate
	 (A)	 Energize	 (B)	 Dull
	 (C)	 Revive	 (D)	 Spur

	 78.	 Fill in the blank with correct form of 
verb.

		  The boys are eager _______ to the 
higher class.

	 (A)	 to promote
	 (B)	 to be promoted
	 (C)	 to be permitted
	 (D)	 none of the above

	 79.	 Choose the correct spelling from the 
following.

	 (A)	 Unscrupulous
	 (B)	 Unscruplous
	 (C)	 Unscrupous
	 (D)	 None of the above

	 80.	 He jumped off the bus while it ____.
	 (A)	 moved
	 (B)	 was moving
	 (C)	 had moved
	 (D)	 none of the above

	 81.	 Choose the correct passive sentence.
		  He has to sell the house.
	 (A)	 The house has to be sold by him.
	 (B)	 House was to be sold.
	 (C)	 House must be sold.
	 (D)	 None of the above

	 82.	 These people _________ houses were 
destroyed in the earthquake need our 
help.

	 (A)	 who	 (B)	 whose
	 (C)	 whom	 (D)	 which

	 83.	 Choose one word substitute.
		  One who is against the religion.
	 (A)	 Heretic
	 (B)	 Conformist
	 (C)	 Believer
	 (D)	 Orthodox

	 84.	 Choose the correct synonym of the 
word : 

		  Squalid
	 (A)	 Filthy	 (B)	 Happy
	 (C)	 Clean	 (D)	 Eager

	 85.	 There were _______ twenty people 
there.

		  (Choose the correct word)
	 (A)	 hardly
	 (B)	 scarcely
	 (C)	 barely
	 (D)	 none of the above

Part – 4 
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	 86.	 {H$gr _mb H$m 
2
3  ̂ mJ 5% bm^ na ~oMm J`m Am¡a 

~Mm hþAm 2% hm{Z na ~oMm J`m & ̀ {X Hw$b bm^ 

400 ` hmo, Vmo _mb H$m Hw$b _yë` (` _|) hmoJm 

	 (A)	 ` 20,000	 (B)	 ` 15,000

	 (C)	 ` 12,000	 (D)	 BZ_| go H$moB© Zht

	 87.	 Jm¡ad Zo A§{H$V _yë` na 20% H$m {S>ñH$mC§Q> (Ny>>Q>) 

H$mQ>Zo Ho$ níMmV² 10% A{V[aŠV NyQ> Ho$ gmW EH$ 

gyQ>Ho$g IarXm & `{X A§{H$V _yë` 1,400 ` h¡, 

Vmo CgZo gyQ>Ho$g {H$g _yë` _| IarXm ?

	 (A)	 ` 1,008	 (B)	 ` 980

	 (C)	 ` 1,156	 (D)	 BZ_| go H$moB© Zht

	 88.	 EH$ H$_am Mm¡‹S>>mB© go AmYm A{YH$ bå~m h¡ & H$_ao 

_| H$manoQ> {~N>mZo H$s H$s_V 5  ` à{V dJ© _r. Ho$ 

{hgm~ go ` 270 h¡ & Mma Xrdmam| na 10 ` à{V 

dJ© _r. Ho$ {hgm~ go nona {MnH$mZo H$s H$s_V  

` 1,720 h¡ & `{X EH$ XadmµOm Am¡a 2 {I‹S>H$s  

8 dJ© _r. OJh KoaVo h¡§, Vmo H$_ao H$s Zmn bå~mB© × 

Mm¡‹S>mB© × D±$MmB© _| hmoJr  

	 (A)	 9 × 6 × 6	 (B)	 8 × 6 × 9

	 (C)	 8 × 4 × 6	 (D)	 BZ_| go H$moB© Zht

	 86.	 Two-third of a consignment was sold 
at a profit of 5% and the remainder at 
a loss of 2%. If the total profit was ` 
400, the total value of the consignment  
(in `) was

	 (A)	 ` 20,000	 (B)	 ` 15,000

	 (C)	 ` 12,000	 (D)	 None of these

	 87.	 Gaurav purchased a suitcase with 
an additional 10% discount on the 
reduced price after deducting 20% 
on the labelled price. If the labelled 
price was ` 1,400, at what price did 
he purchase the suitcase ?

	 (A)	 ` 1,008	 (B)	 ` 980

	 (C)	 ` 1,156	 (D)	 None of these

	 88.	 A room is half as long again as it is 

broad. The cost of carpeting the room 

at ` 5 per sq. m. is ` 270 and the cost 

of papering the four walls at ` 10 per  

sq. m. is ̀  1,720. If a door and 2 windows 

occupy 8 sq. m., find the dimension of 

the room as length × breadth × height

	 (A)	 9 × 6 × 6	 (B)	 8 × 6 × 9

	 (C)	 8 × 4 × 6	 (D)	 None of these

Part – 5 
General Maths gm_mÝ` J{UV
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	 89.	 VrZ Q>§{H$`mo§ Ho$ Am`VZ H$m AZwnmV 3 : 4 : 5 h¡ & 
CZ_| XyY Am¡a nmZr H$m {_lU ^am h¡ & CZ {_lUm| 
_| XyY Am¡a nmZr H$m AZwnmV H«$_e: (4 : 1),  
(3 : 1) Am¡a (5 : 2) h¡ & BZ VrZ Q>§{H$`m| H$m {_lU 
Mm¡Wr Q>§H$s _| S>mbm J`m, Vmo Mm¡Wr Q>§H$s _| XyY Am¡a 
nmZr H$m AZwnmV hmoJm 

	 (A)	 157 : 53	 (B)	 151 : 48
	 (C)	 5 : 2	 (D)	 BZ_| go H$moB© Zht

	 90.	 dh AZwnmV Š`m hmoJm {OZH$m AÝVa 40 h¡ Am¡a _mZ 
2
7

 h¡ ?

	 (A)	 14 : 56	 (B)	 15 : 56
	 (C)	 16 : 56	 (D)	 BZ_| go H$moB© Zht

	 91.	 EH$ _moQ>a `mÌr 150 {H$_r H$s Xÿar 50 {H$_r à{V 
K§Q>m H$s Am¡gV Mmb go V` H$aVm h¡ Am¡a dmng  
30 {H$_r à{V K§Q>m H$s Mmb go g_mZ Xÿar V` H$aVm 
h¡ & CgH$s nyar `mÌm H$s Am¡gV Mmb {H$_r/K§Q>m 
_| hmoJr

	 (A)	 37.5	 (B)	 37
	 (C)	 35.7	 (D)	 BZ_| go H$moB© Zht

	 92.	 `{X Xmo g§»`mAm| H$m ̀ moJ 55 h¡ Am¡a CZH$m _hÎm_ 
g_mndV©H$ Ed§ bKwV_ g_mndË`© H«$_e: 5 Am¡a 
120 h¡, Vmo CZ g§»`mAm| Ho$ ì`wËH«$_m| H$m `moJ 
hmoJm 

	 (A)	
120
11

	 (B)	
11

120

	 (C)	
55
601

	 (D)	 BZ_| go H$moB© Zht

	 89.	 Three tanks have their volumes in the 
ratio 3 : 4 : 5. They contain mixture of 
milk and water. The mixtures contains 
milk and water in the ratio of (4 : 1), 
(3 : 1) and (5 : 2) respectively. The 
contents of all these three tanks are 
poured into a fourth tank. The ratio of 
milk and water in the fourth tank is

	 (A)	 157 : 53	 (B)	 151 : 48
	 (C)	 5 : 2	 (D)	 None of these

	 90.	 What is the ratio whose terms differ by 

40 and the measure of which is 2
7

 ?

	 (A)	 14 : 56	 (B)	 15 : 56
	 (C)	 16 : 56	 (D)	 None of these

	 91.	 A motorist travels to a place 150 km away 
at an average speed of 50 km/hr and 
returns at 30 km/hr. His average speed 
for the whole journey in km/hr is

	 (A)	 37.5	 (B)	 37

	 (C)	 35.7	 (D)	 None of these

	 92.	 If the sum of two numbers is 55 and the 
H.C.F. and L.C.M. of these numbers 
are 5 and 120 respectively, then the 
sum of the reciprocals of the numbers 
is equal to

	 (A)	
120
11

	 (B)	
11

120

	 (C)	
55
601

	 (D)	 None of these
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	 93.	 Mma AbJ {dÚwV CnH$aU àË`oH$ 30 {_{ZQ>,  

1 K§Q>m, 1
1
2

 K§Q>m VWm 1 K§Q>m 45 {_{ZQ> Ho$ A§Vamb 

na H«$_e: {gQ>r ~OmVo h¡§ & `{X Xmonha 12 ~Oo 
g^r EH$ gmW {gQ>r ~Om`o, Vmo AJbr ~ma EH$ 
gmW {H$VZo ~Oo {gQ>r ~Om`|Jo ?

	 (A)	 _Ü`am{Ì 12 ~Oo
	 (B)	 9 A.M.

	 (C)	 6 A.M.

	 (D)	 BZ_| go H$moB© Zht

	 94.	 {H$gr g§ñWmZ H$m {dÚwV {~b Am§{eH$ ê$n go {Z`V 
VWm Am§{eH$ ê$n go {dÚwV BH$mB© Ho$ IM© na {Z^©a 
Wm & {H$gr _{hZo _| 540 BH$mB© IM© hmoZo na {~b  
1,800 ` hþAm & Xygao _{hZo _| 620 BH$mB© IM© 
hmoZo na {~b  2,040 ` hþAm & `{X {H$gr AÝ` 
_{hZo _| 500 BH$mB© IM© hþAm hmo, Vmo Cg _{hZo 
H$m {~b hmoJm 

	 (A)	 ` 1,840	 (B)	 ` 1,560

	 (C)	 ` 1,680	 (D)	 BZ_| go H$moB© Zht

	 95.	 EH$ dñVw X H$m ̂ md à{Vdf© 40 n¡go ~‹T>Vm h¡ O~{H$ 

dñVw Y H$m ̂ md à{Vdf© 15 n¡go ~‹T>Vm h¡ & ̀ {X df© 

2001 _| dñVw X H$m ^md  4.20 ` Wm Am¡a dñVw 

Y H$m ^md 6.30 ` Wm, Vmo {H$g df© dñVw X H$m 

^md dñVw Y go 40  n¡go A{YH$ hmoJm ?

	 (A)	 2011	 (B)	 2012

	 (C)	 2013	 (D)	 BZ_| go H$moB© Zht

	 93.	 Four different electronic devices 
make a beep after every 30 minutes,  

1 hour, 1
1
2

 hour and 1 hour 45 minutes 

respectively. If all the devices beeped 
together at 12 noon, then they will 
again beep together at what time ?

	 (A)	 12 midnight
	 (B)	 9 A.M.

	 (C)	 6 A.M.

	 (D)	 None of these

	 94.	 The electric bill of a certain establishment 
is partly fixed and partly varies as 
the number of units of electricity 
consumed. When in a certain month 
540 units are consumed, the bill is 
` 1,800. In another month 620 units 
are consumed and the bill is ` 2,040. 
In yet another month 500 units are 
consumed, the bill for that month would 
be 

	 (A)	 ` 1,840	 (B)	 ` 1,560
	 (C)	 ` 1,680	 (D)	 None of these

	 95.	 The price of commodity X increases by 
40 paise every year, while the price of 
commodity Y increases by 15 paise every 
year. If in 2001, the price of commodity 
X was ` 4.20 and that of Y was ` 6.30, 
in which year commodity X will cost  
40 paise more than the commodity Y ?

	 (A)	 2011	 (B)	 2012

	 (C)	 2013	 (D)	 None of these
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	 96.	 ì §̀OH$  
( . ) ( . ) ( . )

( . ) ( . ) ( . )

0 06 0 47 0 079

0 006 0 047 0 0079

2 2 2

2 2 2
+ +

+ +
H$m _mZ hmoJm 

	 (A)	 10

	 (B)	 100

	 (C)	 1000

	 (D)	 BZ_| go H$moB© Zht

	 97.	
8 3 75 1

7 5 6 5

2

2
( . )

( . ) .

+

−






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 H$m _mZ hmoJm 

	 (A)	 2.75

	 (B)	 4.75

	 (C)	 8.5

	 (D)	 BZ_| go H$moB© Zht

	 98.	 EH$ H$ma Ho$ Imbr noQ´>mob Q>§H$s H$mo X àH$ma Ho$ 
noQ´>mob go ̂ am J`m & O~ dh Q>§H$s AmYr Imbr hþB©, 
V~ Cgo Y àH$ma Ho$ noQ´>mob go ^am J`m & nwZ: O~ 
dh AmYr Imbr hþB©, Vmo Cgo X àH$ma Ho$ noQ´>mob go 
^am J`m Am¡a nwZ: dh O~ AmYr Imbr hþB©, Vmo Y 
àH$ma Ho$ noQ´>mob go ^am J`m & ~VmB`o A~ Q>§H$s _| 
X àH$ma Ho$ noQ´>mob H$m à{VeV {H$VZm h¡ ?

	 (A)	 50%

	 (B)	 37.5%
	 (C)	 33.5%

	 (D)	 BZ_| go H$moB© Zht

	 96.	 The value of the expression
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	 (A)	 10

	 (B)	 100

	 (C)	 1000

	 (D)	 None of these

	 97.	
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 is equal to

	 (A)	 2.75

	 (B)	 4.75
	 (C)	 8.5

	 (D)	 None of these

	 98.	 An empty fuel tank of a car was filled 
with X type petrol. When the tank was 
half empty, it was filled with Y type 
petrol. Again when the tank was half 
empty, it was filled with X type petrol. 
When the tank was half empty again, 
it was filled with Y type petrol. What 
is the percentage of X type petrol at 
present in the tank ? 

	 (A)	 50%

	 (B)	 37.5%

	 (C)	 33.5%

	 (D)	 None of these
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	 99.	 Divide ` 2,379 into 3 parts so that 

their amounts after 2, 3 and 4 years 

respectively may be equal, the rate of 

interest being 5% per annum at simple 

interest. The first part is

	 (A)	 ` 818

	 (B)	 ` 828

	 (C)	 ` 808

	 (D)	 None of these

	100.	 The least number of complete years in 

which a sum of money put out at 20% 

compound interest will be more than 

doubled is

	 (A)	 3

	 (B)	 4

	 (C)	 5

	 (D)	 None of these

	 99.	 ` 2,379 H$mo 3 ^mJm| _| Bg àH$ma ~m±Q>mo§ {H$  

2, 3 Ed§ 4 df© níMmV² H«$_e: CZH$m {_lYZ g_mZ 

hmo, ã`mO H$s Xa gmYmaU ã`mO na 5% dm{f©H$  

h¡  & CgH$m àW_ ^mJ hmoJm   

	 (A)	 ` 818

	 (B)	 ` 828

	 (C)	 ` 808

	 (D)	 BZ_| go H$moB© Zht

	100.	 dh g_` dfm] _| kmV H$s{OE, {Og_| EH$ _yb YZ  

20% MH«$d¥{Õ ã`mO H$s Xa go XþJwZo go ̂ r A{YH$ 

hmo Om`o 

	 (A)	 3

	 (B)	 4

	 (C)	 5

	 (D)	 BZ_| go H$moB© Zht
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    SET –  A

CÎma A§{H$V H$aZo H$m g_` : 3 K§Q>o	 A{YH$V_ A§H$ : 200

Time for marking answers : 3 Hours	 Maximum Marks : 200

ZmoQ> :

1.	 Bg àíZ nwpñVH$m _| 100 àíZ h¡ - àË`oH$ àíZ 2 A§H$ H$m h¡ & g^r àíZ hb H$aZm A{Zdm`© h¡ &

2.	 Bg  àíZ nÌ _| nm±M ^mJ hm|Jo –
			     à.H«$. 	 A§H$
	 ^mJ - 1	 _{hbm Ed§ ~mb {dH$mg {d^mJ go	 1 go 20	 40
		  gå~§{YV `moOZmE± Ed§ H$m`©H«$_
	 ^mJ - 2	 gm_mÝ` _mZ{gH$ `mo½`Vm Ed§ gm_mÝ` kmZ	 21 go 60 	 80	
	 ^mJ - 3	 gm_mÝ` {hÝXr Ed§ N>ÎmrgJ‹T>r ^mfm H$m gm_mÝ` kmZ	 61 go 75 	 30	
	 ^mJ - 4	 gm_mÝ` A§J«oOr	  76 go 85 	 20
	 ^mJ - 5	 gm_mÝ` J{UV	  86 go 100 	 30
	 àË`oH$ àíZ 2 A§H$ H$m h¡ & Hw$b 100 àíZ H$aZo A{Zdm`© h¡ &
3.	 àíZm| Ho$ CÎma, Xr JB© OMR CÎma-erQ> (Am§ga-erQ>>) na A§{H$V H$s{OE Ÿ&
4.	 JbV CÎma A§{H$V H$aZo na {Z`V A§H$ H$m � A§H$ H$mQ>o Om`|Jo &
5.	 {H$gr ^r Vah Ho$ H¡$bHw$boQ>a `m bm°J Q>o~b Ed§ _mo~mBb \$moZ H$m à`moJ d{O©V h¡ Ÿ&
6.	 OMR CÎma-erQ> (Am§ga-erQ>) H$m à`moJ H$aVo g_` Eogr H$moB© AgmdYmZr Z H$a|/~aV| {Oggo `h \$Q> Om`o `m 

Cg_| _mo‹S> `m {gbdQ> Am{X n‹S> Om`o {OgHo$ \$bñdê$n dh Iam~ hmo Om`o Ÿ&
Note :
1.	 This question booklet contains 100 questions. Each question carries 2 marks. Answer all 

questions.
2.	 This question Booklet consists of Five parts namely –

				    Q. No. 	 Marks
	 part - 1	 Schemes and Programmes related to	 1 to 20	 40
		  Women and Child Development
	 part - 2	 General Mental Aptitude and General Knowledge	  21  to 60	 80
	 part - 3	 General Knowledge of General Hindi and 
		  Chhattisgarhi Language		  61 to 75	 30	

	 part - 4	 General English		   76 to 85	 20 

	 part - 5	 General Maths	 	  86 to 100	 30
	 Each question carries 2 marks. All 100 questions are compulsory.
3.	 Indicate your answers on the OMR Answer-Sheet provided.
4.	 � of allotted marks will be deducted for each wrong answer.
5.	 Use of any type of calculator or log table and mobile phone is prohibited.
6.	 While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get 

torn or spoiled due to folds and wrinkles.


